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(2043) 1. FHERE

Big Apple Music, Inc., enjoys an exclusive copyright on music
written and produced by the Fab Four, a legendaryA British rock
group. Total revenue for the group's records is given by the
relation:

TR = $15Q ~ $0.000005Q>.

Marginal costs for production and distribution are stable at $5 per

unit. A]]otharcostshnveboenfullyamortiged.

A. As amonopoly, calculate Big Apple’s output, price, and profits
at the profit-maximizing activity level.

B. What record price and profit levels would prevail following
expiration of copyright protection based on the assumption
that perfectly competitive pricing would result?
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(20 53) 3. PR

(1) Isoquant
(2) Asymmetric Information

(3) Money Mutltiplier
(4) Cost-push Inflation
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(1) Which of the following is NOT held constant whea constructing a
demand curve for good X?
a. Consumer income
b. Consumer tastes
c. Price of good X
d. Prices of other goods
e. Consumer expectations

@
Bacon and eggs are most likely
a. c¢omplements.
b. substitutes.
c. bads.
d. overproduced in a competitive market.
¢. free goods.

(€)

If an increase in the price of good X canses the demand for good Y to

(4)  Assume MU, = 1,000 utils, MU, =200, P, = $50, and P, = $20. This
consumer

should buy less of X and less of Y.

should buy more of X and less of ¥,

is in equilibrium. _

should buy more of X and more of Y.

should buy more of X becanse MU, > MU,

sppoop
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®) Assume that a consumer purchases a combination of products X and ¥
and the MU, /P, =75 utils per dollar and MU, /Py = 50 utils per dollar.
To maximize utility without spending more dollars, the consumer
should buy .

more of both X and ¥

less of X only if the price of X increases.

more of Y and less of X.

more of X and less of Y,

less of both X and Y.

capop

(6) A perfectly inclastic demand curve is expressed graphically as
a. adownward-sloping demand curve.
b. an upward-sloping demand curve.
c. ahorizontal line.
d. a vertical line.
e. bowed-out curve,

@) When the price of a good increases, total revenu earned from selling
that good also increases. From this, we can correctly conclude that de-
mand is

clastic.

unit-elastic.

inelastic.

perfectly inelastic.

perfectly elastic.

Paoop

®) When income elasticity of demand is a negative number, one can cor-
rectly conclude that
a. the good is normal.
b. the good is inferior.
c. the good is a substitute.
d. the good is a complement.
e totalrevmuewilldeclusewhcnﬂlepﬁceinmm.
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Which curve passes through the minimum point of the average-total-
cost curve?

The total-fixed-cost curve

The long-run average-total-cost curve

The demand curve

The marginal-cost curve

The average-variable-cost curve

P aDn g

(10)

A firm that cannot take any influence on setting prices is
a natural monopoly.
a local monopoly.
in a2 monopolistically competitive market structure.
in a perfectly competitive market structure. -
in an oligopolistic market structure.

®anop

(11) Real GDP measures
a. personal income adjusted for taxes paid to the government.
b. national output adjusted for changes in the quality of products.
c. national output adjusted for price level changes.
d. nominal output adjusted for changes in national income because of
economic booms.
e. national output adjusted for unemployment.

(12) Depreciation of the dollar means that

‘the value of the dollar has increased in relation to other currencies.
the prices of U.S. products to foreigners have risen.

foreign product prices are now lower.

foreign product prices are now higher.

the United States will sell fewer products to foreigners.

oo

(13)
If the nominal interest rate is 12 percent and the inflation rate is 7 per-
cent, then the real interest rate equals
a. -Spercent.
b. +5 percent.
c. +7 percent.
d. +12 percent.
€.  +19 percent.
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(14)

(15)

(16)

(17)

(18)

The consumption function describes the relationship between house-
hold spending and

a. disposable income.

b. prices.

¢. planned investment.
d. wages.

c. saving.

If the reserve requirement is 25 percent, what is the deposit expansion
multiplier?

a. 100

b. 25

c. 10

d 4

e. 2

Raising the reserve requirement will

a.  reduce the deposit expansion multiplier.
. lower the discount rate.
increase excess reserves.
increase the money supply.

o

e an

a. aggregate expenditures also exceed total income.
b. ﬂleeconomyisopumingatitseqﬁlibthnnlevcl.
c. unplanned inventory reductions occur.

d. theteisplmm'eonutionalimometodeclinc.
e tlmeisplusmeonbusimproducﬁonwﬂse‘

The larger the MPS,

a. ' the smaller the spending multiplier.

b. the larger the spending multiplier.

c. the smaller the slope of the saving curve.

d. thesma‘llu-theleakagcoutofﬂ:eincomesn'eamwhcnautono-
mous expenditures increase.

e. the larger the slope of the consumption function.
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(19)

A person keeps some cash assets in order to be prepared for unforeseen
future events. This reflects

a speculative demand for money.

a transdctions demand for money.

a precautionary demand for money.

a liquidity demand for money.

a risk-neutral demand for money.

saoop

(20) The transactions demand for money

rises when nominal income falls.
falls when the price level rises.
falls when real GDP rises.

falls when the money supply rises.

poogm




